
APPEAL No 4:  Average plus, average minus
Tournament Director:

Andrew Crawford

Appeals Committee:

Chris Jagger (Chairman)   David Stevenson   Brian Nicholls
	Swiss Pairs
Board no 19
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E/W vulnerable
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Basic systems:

East-West play Acol, 12-14 1NT

	WEST
	NORTH
	EAST
	SOUTH

	
	
	
	2♥!

	2NT!
	Pass (1)
	3♣
	Pass

	3NT
	Pass
	Pass
	Pass


(1) Asked about 2NT: told it was Lebensohl
Result at table:

3NT making by West, NS +600, lead ♣Q
Director first called:

At end of auction

Director’s statement of facts:

At the end of play North said he would have bid 3♣ if he had been given a correct explanation of the 2NT overcall by West.  After consultation with his colleagues TD asked West what 3♣ was and was told it was not Stayman following a 2NT overcall and she treated 3♣ as a suit.
Apparently East thought partner had a 5 card suit and therefore she must bid 3♣ – she said afterwards she got Lebensohl wrong.

Note by editor:

Some players play a 2NT response to a double of a weak two as Lebensohl, forcing 3♣, usually showing a weak hand with a long suit.  It appears that East got confused and thought that it applied to a 2NT overcall of a weak two.

Director’s ruling:

Artificial score awarded:


Average plus to N/S, average minus to E/W

Details of ruling:

In the TD’s opinion, West’s 3NT involves illegal use of unauthorised information.  East’s explanation of “Lebensohl” warns West that they have had a misunderstanding and by bidding 3NT West ensures a silly contract is not reached.  East is likely to pass any call West makes.
Since E/W do not seem able to describe their methods after a 2NT overcall, although they play Puppet Stayman over 2NT opening and Stayman over 1NT overcall, the TD found it impossible to determine what the final contract would be.  E/W defence to Weak Twos is double for takeout.

Appeal lodged by:

Not recorded on form.
Appeals Committee decision:

Score assigned for both sides (Law 12C3):


   70% of 4♠ –2 by West, NS +200


+ 30% of 4♠ –1 by West, NS +100

Deposit returned

Appeals Committee’s comments:

There seemed no question of North taking a different action.
We thought in the absence of the UI West would have considered 3♠ a logical alternative, which East would raise.  Based on frequencies obtained in 4♠ and the fact that the contract is being played the other way up they are more likely to go two off.

